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Section 1 - G:eneral Hindi

1) R T afaardt odt # & A ¥ ar o
=T & forg Wy orez g

T "mwrg

A) TEET

B) farg

OEEI

D) sras

2) TR TH THIH-HT HT I -
A) TgdifE

B) &g -

C) sr=aaftsTTe

D) wHeTT

3) Fmrferfea # & #iv-ar amwmE g e @we?
A) TR

SEIREECER

C) FeTyetor

D) TR

4) Tirerz ATg 1 ‘AT T % fog 5 2014
# arfeer Tt qEERTT § ARG A T, T
=T H T g -

A) FfaaT
B) =T
C) F&T1
D) Sftat

5) ‘eI TF AT TEAT o 3 o WE AT

6) 1 wET T AReT T qRERE T AT
F g -

A) TipaTer

B) AT

C)ghEr T agT

D) F=TAT AgaTe

7 — 11 w31 % forw A
e s=ee 1 Tgae 3a% A T T w=it
& 3¢ -

AT o 2 ST & T v & 5o fY qemer
@ § R TR § B REW ¥ e $y
sft F forg #18 strg 79 et sy R ¥
‘W%ww’waﬁwq—gwlwﬁ
¢ & g oft Rl o e & o) Py, erarey
T ITHA TG G111 IE T AT TR g
AT T A RN A = a qg e Aoy
WA & 79 T T8 T & WA ST &1 T ThR
1% oY deTieen sreramT Rerg-Riae 7 g
ATE SR AT 21 98 AT 797 F UF =k
AgTE & a4 T §) AHAT, FL A A T oA
¥ eeaTRn R w1 e a9 g e S
T ag v agre Al afEA 9w § e §
frgiat a7 Fiew e 7 SEET @ TR
B THeT Haad g W A8l T oo T
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fagia AT & T s o saRer ar aggie
e AT T A ST A A, e A
TRHT A T Forgiar & s & amo o 8 piew
e % ST S S g & X o g 2
T, T TR A FIT W R wy, g
AT H TH TAT TETT =T A g a7 Ry
gt gr T

7) TA=TT % HaT | oraew e

A) B & W % AT W RS gy a6t
EECI

B) fastT= T ATt sraeTom gt 21

C) s arae v it areafas agrs a7i F
El

D) fasm s 3o ST ¥ U= uF & wivwer &t
AT FL 21

8) fAwr # favwart #1% oft R erowr smo & Fft
fRATYer, srehTeT a7 TRHET Tl grar?

A) 39

B) fsr

C) AT

D) zfer

9) =es 1 frgta frehY awg & afiega gam?
A) Fiew fhforer ¢

B) caTeRdr i

C) wfer =1 s

D) ATl gof

10) 317 ¥t St ¥ sy i R AT SraT 7
A) FieR R

B) Stw wwma

C) eaEThyr Rgia -

D) SSHT T AT qedis

11) FFae =gg=raTe it gger w far?
A) TEETRIT g

B) miew sl

C) 7t =1 R

D) ST &err & R

12) "afardr, R & T & -
A) Tft -

B)¥

)

D) 7T

13) arRr & T s v & forg Aot § § adt
e gfAT -

Tg Hfaar ot 81

A) A7

B) 3

C)g@

D) faert -

14) TAFAT TAT F FATEAT T FT T4 iy
AT R?

A) FTET

B) sraTEd

C) grav AIae

D) wferF HewTa STt
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15)'W$rﬁf€rﬁ@gg_
A) ST + W

B) 39 + Hew

C)S + Hreq

D) 3T + Hreq

16)%&%%@@-
A) amaT -

B) R #r g

C) g #FTEw

D) 99 & yE

17) =T # & 9t a6 gg=m S
A) = TgT AT ATt I

B) W= 9 < 3 gl

C) W Igq 33 3MaT 21 »

D) {= 9gd s (T gl

18) ArE"we wqadr # =T W omiRe
FhTeHT qrene e 8?7

A) 37 Y T T
B) fRafadfet
C) fBw aifift
D) I =TT »

19) "I a== W It FRaferfea e oeg & g8
g?

A) T2

B) faferT

C) wfery

D) #IgT

20) WRT ¥ IgAH AT qAT I ~AEEl H
ot Feeft fer fr srqeae § A w@reg?

A) sT=aT 344

B) == 346

C) sTg=a< 348

D) srg=ai% 120

21) FEE TrHTEr ST % Saia T AR F g
A) THHTEH.

B) wRRAT

C) =T

D) fAsfiar

22) STt I AT I A STAH AT HT TART ATA-HTT
A) TFHF

S EETED
C) 97 ~
D) TerTg

zs)ﬁw%iﬁam%m?ﬁ@nw%ﬁrqa@
T g

iﬁ@vﬁm%mﬂﬁaﬁ'{wﬁzﬁ%waﬂw
ot et & ey '

A) =7 et & der gy

B) Frett # st sfyey

C) X T i ot e
D) == & i a1t e
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24)Wﬁmﬁ?ﬁw%ﬁqﬁwﬁﬁﬁv@
greg AT -

Tt F A T Fg &
A) AT = fRE

B) arfior =afxe
C) TsRT =TRE

D) ggTT =<

25) fafefaa & fF eox &1 aww gwar T8
TEaT?
A) ¥eT
B) FTHT

C) |7

D) g1

26) THTAETE T Y AR SHEHT e
ELREHERERIRIR I

A) &9 1970
B) & 1975
C) 7 1998
D) & 1973

27) frafafea =&t & 7 ataarft areg g -
T, T, TAT

A) farar, s, ATt

B) waTUlY, Fad, wA -

C) 3HT, {4, quT

D) gHA, FaT, F4T

28) 'fa=T= ® FI-97 ST WM 8?7
A%
B) faw

C) fas
D)fx .

29) Trorafersis [ 7 FEEY &7 wae e R w4 87
A) 7€

B) ¥

C) srferyTs X

D) ¥ Iy

30)<HETSHT o5 H WA TAT § -
A) T

B)%

Cc)#H

D) ST

31) ‘Tl Tq HfY-9E FT ITFT § -
A) IfZ |fr
B) [T | e
C) ur gfer
D) <e |fer

32) '# ¥ AT 1" T AT | qgTAE AT -y
22

A) ST,

B) STHT

C) &

D) ST
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33) 'Y H '€ YIT TN G HIF-GT AT A2 37)
FAT? s

A) T A) FTHATET
B) i B)

c) - o) T
D) Trgiaar p) et

34) Frafrt T % o A T I T
Wﬁﬁﬁ*dﬁ’ﬁmmm%?

A srrer e 3 A -
B)Wﬁwm@qﬁﬁ%m
C)arsm?fﬁ'f?ﬂﬁ*ﬁq
D)mqﬁgﬁéﬁiﬁ%éﬁ

A) FIETE
B) & -
C) gﬁ'a'rﬂ’ﬁﬁﬂ?ﬁ
D) <TgEATe

36) farmferfere & & @t AT 1 T A
A)gqqa‘?ﬁiraﬁﬁ‘ﬂﬁ’ﬁ%’ﬁﬁg' .

B) T ey & W 2rifd g
C)wqﬁ?ﬁﬂaﬁ'ﬁﬁﬁﬁﬁﬂﬁgl

D) 27 T & F AT A 2
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Section 2 - General Awareness

38) Qutub-ud-din Aibak was the founder of which 38) Fq@-32-41 Ve Fay Teaer F7 FETTT ar?

dynasty?

A) Lodhi Dynasty
B) Tughlaq Dynasty
C) Slave Dynasty
D) Khilji Dynasty

A) I
B) qTetes @<

C) & F9r
D) fRrersfy o

39) Which of the following countries are the

permanent members of United Nations Security
Council?

A) India, Pakistan, Sri Lanka, America, China
B) Sri Lanka, Bangladesh, France, China, Japan
C) France, Russia, Japan, China, India

D) United States, Russia, U.K., France, China

39) Fererfarfre 3 & A3 o7 S T AT TR F
T 9eeT 872

A) ST, wTisReaTe, e, st i
B) sfieiehr, Aiverraar, shiH, =i, STIT
C) Whi®, &, JTI, F, 91

D) &4 1154, ¥, g, F., Wid, Fi

40) Which one of the following options is cultivatéd
as a 'Zaid Crop' in India?

A) Cotton

B) Wheat

C) Watermelon
D) Soyabean

40) Fwforfea & ¥ fadr adt g § 'Smae waer &
w7 F 7 AT 82

A) T

B) 7 x

C) aggsi-

D) HraTe

41) Name the country with which India signed

memorandum of interest (Mol) to supply of milk

41)w%srmmmﬁa%mw%wr
2019 ¥ gg AT gg ISt A1 AgfE F Pro mivey

and milk products in October 2019. 3% T (Mol) T gEaTer e 872
A) Nepal A) T
B) Bhutan B) Yz
C) Sri Lanka C) =fr=
D) Maldives D) HTerete
Page 7 of 48
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42) The "Losoong or Lossong" festival in India is 42) Ta & "&I&T a7 AT AR SR BT e
mostly celebrated in the month of December every REEY ¥ Wa # AATAT ST &1 Tg TTETE HICT ¥ fig
year. This festival is one of the most important TS FT G HEA L0l ATEIY &7

festival of which state in India?
A) Haryana

B) Sikkim

C) Kerala

D) Punjab

43) Arrange the given rank of the police from the
lower level to a higher level.

A) Head Constable, Inspector, Deputy Inspector
General of Police, Assistant/Deputy
Superintendent of Police

B) Head Constable, Inspector, Assistant/Deputy

Superintendent of Police, Deputy Inspector
General of Police

C) Head Constable, Deputy Inspector-General of
Police, Inspector, Assistant/Deputy
Superintendent of Police

D) Deputy Inspector General of Police, Head
Constable, Inspector, Assistant/Deputy
Superintendent of Police

A) gRETomT
B) fafa .
C) T
D) gsTTer

43) fRu o gfere F & 1 A= ww A g A A

Fafedd

A) g3 Fieead, SeU%ex, qferd I7 AgTiALiers, agrT/
37 qfera srefrer

B) FEFTeead, SEIFT, ARTAH/IT qfor arefrersh,

Ngfere 37 agrfaders

9)%@$@aﬁ,gﬁvwn§rﬁﬁw, ElaLrad
GTIH/IT i areftersn

D) qferer 3w weT<iers, 25 Ficas, Seex,
HETIF/3T I reflersh

e —

44) Who among the following is the first recipient of 44) Fafafee # & w7 wreg » TN HATg A
‘Param Vir Chakra’, the highest gallantry award in WWW%W@H@Q J?

India?

A) Major Somnath Sharma

B) Second Lieutenant Rama Raghoba Rane
C) Captain Vikram Batra

D) Captain Gurbachan Singh Salaria

A) T AT gyt

B) & wiftte T wrea oy
C) e faster =y

D) %= e g st
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45) Which among the following are Nautanki

_ - 45) I T F AEH, THAATAT, FAL, AT, ZIAT 417
Raslila, Kajri, Jhora, Chappeli & Jaita of Uttar

pradesh related to? o ( b
A) Folk dance A) Fre.
B) Classical dance B) s e
C) Folk painting C) A e
D) Famous fair D) wfrg e
46) 'The Calcutta Chromosome', is the famous 46) Wiz T ‘T Forder wrmaT, Fofafaa § 9
book written by which of the following authors? o <t g forar w87
A) Jerry Pinto A) 3 ffer
B) Margaret Atwood B) WTItE U=,
C) Amitav Ghosh C) sfara =
D) Jonathan Stroud D) STHTEA 23S
47) In which of the following year the major 47)Feferfe e 9 & st e sf=as 2000
amendment to Indian IT Act 2000 was introduced?, & 'S@ Fetrer fFa T ar?
A) 2006 A) 2006
B) 2005 B) 2005 -
C) 2008 C) 2008
D) 2004 D) 2004
Men did demonetization happen in India? 48) e At (FT) i g7
A) th November 2016 4).8 T 201G
B) 9th November 2016 B RSSO0
C) 8 =¥ 2018

C) 8th November 2018

D) 10 T 2017-
D) 10th November 2017 )
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49) Who has been awarded with the Shaurya 49) eFT&q 2020 # ¢ffF I TCEFK & R womfig

Chakra award in August 20207
A) Vishak Nair

B) Major Aman Singh

C) GD Bakshi

D) Vishal Kushwah

ERIEEIN

A) fareme 7Y
HEERELLRGH
C) it <t a=sft

D) fasm=r Ferarg ¢

50) What is the number of 500 rupee notes in the
economy before demonetization?

A) 17,800 million
B) 17,165 million
C) 16,196 million
D) 17,000 million

50) Freadt ¥ qger srfereedr # 500 FH F AR fi
gt ot ofi?

A) 17,800 fafera=

B) 17,165 fafea+

C) 16,196 faforga

D) 17,000 faferga

51) As per historians, who among the following is
considered as the first Sultan of Delhi?

A) Mahmud of Ghazni
B) Qutub-ud-din Aibak
C) Alauddin Khilji

D) Aram Shah

51) gfagrEai  sgar, Aaferfes ¥ & 7 Rt =t
T oA /AT ATAT g2

A) AEHE Tt
B) TIT-33-41 T -
C) sz fRrersft

D) SIRTamTg

52) A device used to measure atmospheric relative

humidity is known as:

A) Hydrometer
B) Hygrometer
C) Lactometer

D) Potentiometer

52) ATgHET AT ST A W F e 3w R
aﬁwmﬁwg;

A) gregrie -
B) greiimdiex
C) A HeT

D) qrefreraiex
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53) Which of the following countries did India lay an 53) wRa 7 FwfereT § § fg o ¥ AT e
Q 1 dlq[ Cl
agreement of land boundary that came into force T% ww=iaT 3T Sy Sl ~
2015 ¥ srqemde wfg av

by following the exchange of instruments of ‘S&dcw sitw Wefrsr ¥ S e

ratification in June 20157 &7 ELESCInY
A) Nepal A) Far

B) Bangladesh B) Ty

C) Bhutan C)

D) China D) S

54) Which among the following options is NOT one 54) fafefem et # & w7 wer w2or # g

of the UNESCO world heritage sites located in UNESCO #t fava erdrge ea=it # & us 7 22

Madhya Pradesh?

A) Khajuraho Group of Monuments A) T[RTET TTGH 99E
B) Group of Monuments at Hampi B) g+t T Wig

C) Buddhist Monuments at Sanchi C) @it ¥ dig T
D) Rock Shelters of Bhimbetka D), frgaeat F ey -

55) Which among the following options is. referred 55) feforfea famedt & & fer wiea o =7 % i
as the effective boundary between'\lndia and sTet =T gy wTaT 22

China?

A) McMahon Line A) TFuRE @t
B) Durand Line B) XS @l

C) Radcliffe Line C) =i war

D) Palk Strait D) UTH TASHEALT

Frofarfe & T T TP TEAT A & w9
56) Which of the following day is celebrated as 56) #  fr fo

. : F TATAT ST 87
National Unity Day?
INVAESEN
A) 21st October
B) 15 AL ~
B) 15th October
C) 31 IHET
C) 31st October
) D) 21 7

D) 21st June
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57) The concept of Directive Principles of the State 57) Wity dfaemT & wea #ifa Fdaw Rrgiai %
Policy of the Indian constitution has been borrowed e Feferfed & & famd = g &2

from the:

A) Constitution of Ireland A) ITATAS FT W

B) Constitution of United States of America B) W<k T ST T HAeT -
C) Constitution of France C) srie =1 GfeT=

D) Constitution of Canada D) ST T |faemT

58) Read the following statements and choose the 58) Frarferfa Fot 7 75 i &) fashew T

CORRECT option.

(i) A transformer is a device used in the power (i) T TEHHT UEH ITFH g Oraeht START faega S=it
transmission of electric energy and works on basic % g arfRr F=ror § famaT SITaT 2 8% fea wahi

principles of electromagnetic induction and mutual 3T iR qTeeT e JTor % go RgiaT 9= F T 21

induction.

(i) Based on the medium of core used, the (i), STTRT T 7T T & ATEAT F MTT U, TR
transformers are classified as (a) Step-up FT (a) RI-TT ZEEHEHT 3R (b) RT-ITIT STHHTHT
Transformer and (b) Step-down Transformer. & &9 ¥ Fufiea T et 21

A) (i) is TRUE and (ii) is TRUE A) (i) F&t g ST (i) T2

B) (i) is TRUE and (ii) is FALSE B) (i) &=t & % (ii) rera g

C) (i) is FALSE and (ji) is TRUE C) (i) e & s (i) Y &

D) (i) is FALSE and (ji) is FALSE D) (i) Terar & S (i) rorer &

59) The currency of Ethiopia is 59) zatfaaT fi qur a1 37
A) Dollar A) ST -
B) Shilling B) farfer
C) Taka C) =
D) fag

D) Birr
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60) Which of the following districts of Uttar Pradesh 60) W= 2020 & Tt T2eT HTHT g1 WL SRS &
contributes maximum in state GDP as per the data srqaTe T weer ¥ famferaa # & fr frer a1, 7T T

released by the government of Uttar Pradesh in S€idt & srfiras g fam 82
March 20207

A) Noida

A) TrueT
B) Lucknow B) TES
C) Kanpur C) FI
D) Agra D) 3T

61) Which of the following category of officers get 61) ¥ gfemr iR svresft (CAPT) # frefatad
basic training in Central Academy for Police # & frer 3rft % srfdrmfat = givamdy sfveror foreraT

Training (CAPT)? a7
A) Group A A)TTA *
B) Group B B) I7 B
C) Group C C)T1C
D) Both Group B and Group C D), 49 B T 47 C A1
62) The capital of Argentina is 62) ST Y T TAH F F 91 g2
A) Buenos Aires A) ST A ¢
B) Bahrain B) sgde
C) Brussels C) goeq

D) Botswana D) aTeeaTT
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during 20067

A) Human Rights Committee
B) Universal Periodic Review
C) Human Rights Council

D) Committee on Economic, Social and Cultural
Rights

—
63) Which of the following bodies replaced the 63) W@T(OHCHR) % 2006
'Commission on Human Rights' in The Office of the Fr Faffaa d & IGEICE ] AT

High Commissioner for Human Rights (OHCHR) &t oTg A1?

A) FTETRR afafd

B) aTdwiTAe saferd qeien

C) ATATTAHTC TREg ¢

D) e, avaTiorn ST ATEpfa stfdt w afaf,

64) Which of the following country has first
implemented the GST?

A) UK
B) Canada
C) USA

D) France

64) fraforiea o & faer 2o F W wger Auadt (GsT)
EIUQER N

A)IF -
B)&TeT
Cyguag
D) i

65) Who was the leader of Tana Bhagat movement 65) 1913-14 # g =T ST sidrer ¥ 347 317 97

which took place in 1913-14?
A) Jaipal Singh

B) Sukhdev Singh

C) Jatra Bhagat

D) Mahipal Jagat Rana

A) SguTer fiig

B) qaqw fiig

C) ST W

D) AfRuTer ST oy

66) Which of the following countries signed an
agreement with India to upgrade the 50.58

66) St 2020 ¥ smopivt s amEwr F A
50.58 feifiex weft weg #y =ream ¥ o A

kilometre long road between Ashuganj and the s=ery 3 oo Preferfg F & g 2or ¥ WG F @
Akhaura into a four-lane highway in January 20207 &q=fy gt TEATER fv

A) Nepal

B) Bangladesh
C) Bhutan

D) Myanmar

A) AqTer

B) atvermaer
C) ™

D) wriwme
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67) In which of the following years the Human
Rights Council was created?

A) 1946

B) 1948

C) 2006

D) 2017

67) ATt afteg Freferfyg # & fmr ad # afed
ERIRCIE

A) 1946

B) 1948

C) 2006

D) 2017

68) Which of the following options is NOT one of

the official languages mentioned in the Eighth
Schedule of the Indian Constitution?

A) Persian

B) Sanskrit
C) Kashmiri
D) Santhali

68) Frarferfaa & & Fr ot sirar sy | i 84t
ST § Ifeefra smferenr wrarel # ¥ T8 87

A) HICHT *
B) s

C) wef&y
D ERIE

69) Which of the following is the higher authority in
the 'Revenue Department'?

A) Revenue Secretary
B) Revenue Council
C) Consolidation Commissioner

D) Relief Commissioner

69) Feffas ¥ * Tower BWET @ IgaT
TRETAE?

A) Tistes ateg

B) e Iius

C) FFaat 3qH

D) TTed ¥

70) 'Nilgiri Khapli' is a high yielding variety of which

released by Indian

of the following crops
Agricultural Research Institute?
A) Rice

B) Tea

C) Mustard

D) Wheat

70) iR amoeit’ Wt F s e g
o et waet § § e, oF 3y s arfy
e 22
A) T
B) =¥
C) st

D) 1%

_Pi;ge 15 of 48
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71) After the border clash between India and China 71) ¥ 2020 % #T<T el i %Eﬁa e o o
yoefrerar i AT g 3

N June 2020, how many Chinese apps were BT G L

=
banned by the Indian Government citing national TTd &THIT &1 ey it G AT I ey

security and privacy concerns? AT
A) 11 A) 11
B) 27 B) 27
C) 59 €) 59 «
D) 62 D} 62

72) Read the following statements and choose the 72) fAwferied Foret T 0% T Ay AT T

CORRECT option.
(i) Bobbili veena is a large plucked string (i) Sfarsft =ftom Ftes e difta & SEAT

instrument used in Carnatic classical music. ST ATeIT U g fa=Td ara dg ared " gl
(i) Bobbili veenas are usually known as ‘Ekanda, (i) N Ao FT SHAR G "THST AOT F FAH
Veenas' as they are made from one single piece 6f ST SITaT & F4i (e 9 AHST F TF ghs 4 AT A1 5

wood.

A) (i) is TRUE and (i) is TRUE A) (i) & g ST (i) FRT 8
B) (i) is TRUE and (ii) is FALSE B) (i) @&l ¢ 3% (i) Toa &
C) (i) is FALSE and (ii) is TRUE C) (i) e & ST (ji) 72l 8
D) (i) is FALSE and (i) is FALSE D) (i) rerer g X (ii) T §

‘Prohibition of human trafficking and forced 73) "\TT= TR X SO oW X AF FT Iodd

;Bt;)ouf' is mentioned in which category of st "@feem & wifers a6t fog aoft 9
fundamental rights of the Indian Constitution? TaTE?
A) Right against Exploitation A) simar ¥ faeg iR ©
B) Right to Freedom B) Eaq=dT &7 SATEHTT
C) Cultural and Educational Rights C) Hegfar sz farer gaieft arfererme
D) HTAAT & AT

D) Right to Equality
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. = . el
74) The tenure of independent experts of human 74) waTA® &fyr fAwma & =0T Frdrat
FRIFT fahaa a6l 7 grar 8 ?

rights treaty bodies is
A) 1 year

B) 2 years

C) 3 years

D) 4 years

A) 139
B) 2 9%
C)3ad
D) 4 a9

. . ST 2
75) How many Central Detective Training Schools 75) T F P ST TEeE e @

are there in India?
A) 3
B) 5
C)6
D)7

A) 3
B) 5
C)6
D) 7
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Section 3 - Numerical Ability

' : e 3 AT AT e T 2,100 ¥ di
76) If 4 chairs and 3 tables cost ¥ 2,100/- and 76) afs 4 Ffaat T 3 752([2
: _ _ . " ’

5 chairs and 2 tables cost ¥ 1,750/-, then what is 5 FfaT sfw 2 Al 1 ToT X qr T T 3

the cost of a chair and a table? T T T TR €4 C ¢ I\
A) Chair = % 150 and Table = 500 &) FT = % 150 e & = X 500 -5;1 o e
B) Chair = Z 100 and Table = ¥ 200 B)Ff=T100sRTw=R200. L eren
C) Chair = % 500 and Table = Z 500 C) Ft = X 500 3fi #st = T 500 8/ = i
D) Chair = % 500 and Table = Z 1,500 D) F#T = 3500 sfx AW =% 1,500 g™ = “3*;“

ANY

77) The LCM and HCF of two numbers are 252 77) &1 @&ameti T LCM aiix HCF ser: 252 =i 18 &)

and 18 respectively. If the difference between the #fe HeaTett % fi=r %7 @iz 90 , T HETTH FT T 7
numbers is 90, then what would be the sum of the -@Trr?

I\
numbers? o
A) 180 A)NI8O e
B) 162 \B) 162 15
) 126 C) 126 B
D) 138 D) 138 2
78)

A person crosses a 455 metre lorg street in 78) TF FRF 35 fime ¥ 45
35 minutes. What is his speed in km/hr?

A) 0.95 km/hr

5 Wiz &t 72 %y ey
%’lﬁ;ﬁ.ﬂﬁﬂ%ﬁsﬂﬁﬁﬁwg?

A) 0.95 Y. wiyr 5 Q) +&;3.
B) 0.78 km/hr B) 0.78 . wfy e S S
C) 0.62 km/hr C) 0.62 feft, wfiy o A1
act

D) 0.52 km/hr D) 0.52 faft. ufar w3
79) What is the value of 1.25 x 0.05 x 0.0004? 79) 1.25 x 0.05 x 0.0004 T 7T 7 39
A) 0.25 x 108 A) 0.25 x 108 —
B) 2.5 x 103 B) 2.5 x 103 Y
C) 0.25 x 10+ C) 0.25 x 10+

D) 25 x 106 D) 25 x 10
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80) The 1y ——— _——
SHCE of 4052 and 1257g is %
A) 4 80) 4052 5ix 12576 a1 H.C . (srgerer errTad)
A) 4
B)9 A e 15 1L
C) 12 )9 2w tore
D) 148 C)12 e Lﬁlﬂz
D) 148 '

Points of the sideg AB,

and CA respectively, th

area of triangle PQR?
A) V312 cm?

B) V3 cm2
C) 2v3 cm2
D) 3v3 cmz2

en what Would be the

82) The value of (5(2((2 - 4)2 +7)+3)-1)2is equal to

A) 15276
B) 15176
C) 15376
D) 15476

+ 81) ABC T wrgst Fasor &, Ryerdiy st 4 4t 1

&1 af 9Tk AB, BC, CA % wex fig wwar: P, Q, R §,

T PQR o 7 fmreper 7y T? R
A) v312 cmz | o -
B) v3 cm?

C) 243 cm2

D) 3v3 em?

82) (5(2(52 - 422+z)1r3 -1)2 1 9T T T
A) 15276 ') %

'8
{5
B) 15176 S e
C) 15376 T4
D) 15476

83) If the average of two numbers b and 4b is 10,
then what is the value of 'b'?

A) 2
B) 8
C) 4
D) 6

83)ﬂﬁ?rlﬁw3ﬁb3ﬁ'{4baw‘r3ﬁ‘ﬂ?f10§,ﬁ'b'$r
HIT T 82

- v — L¥Mb
B) 8 U -sb
C)4 ®

D)6

Page 19 of 48

Scanned with CamScanner



arks and gets 192 marks 84) ‘A', 67% 3 ST AT & ST S0 (i 6T qoT
arks while 'B' scores 27% 192 i 3rfa &, st ‘B, 27% 3 ATH AT g, A
marks. What is the pass ST 48 3iehi ¥ et 21 AT 1 o 7 S0 2 Fivg

0 T R? . 7.‘!}{
A) 210 S}é i . q&f)"'ﬂ
B) 320 Y 'ﬁzd'm
NV Z 99
C) 440 qﬁh\ﬂ
D) 550 NE
&*

, sum of ¥ 16,000 in an 85) e TF YeAfAer H T 16,000 FT Faer FT &,
ums annual interest rate of ST 10% Ft AT 4TS X AT 9w dla 5 T A T

A),Z(21,000 X 133)

s~
& 21,296 | s
&\{Q C) ¥ 23,296 9) 274 %

D) ¥ 24,500
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Section 4 - Mental Ability |
‘ # T g giaarar # 9
86) The Venn diagram mentioneg here gives a 86) 7t RT 7T a7 @
repo

rt of the Number of stude

i s 1 R T &1 9 AT

nts who Participated = aTel EAT o ag T 4 T A,
i a sports event. There were only 4 sports ¥ Fae 4 T Ao fFT ‘T:ﬁ $t deqr F g9tar gl
conducted in the event. The distribution shows the B, C 3w D % wrr o aTer

‘ F % sy 9T A T e
Who participated in 4 Sports A, I s F <t T SIHEFIRAT &

on the information given in the T FT I T

Wwer the question given below,

number of students
B, C and D. Based
Venn diagram, ans

P ot & wwdaw 2 @9 F oww R

How many students Participated in atleast 2
sports?

A) 11 | 'g
A) 11 B) 29
B) 29 C) 30
& 30 D) 40~
D) 40

i 135, 2, 1215 Ha= & squfeaq gean
hat is the missing number in the series 5, 15, 87) 5, 15, 45,
87) What i

e 2
45,135, 2, 1215 A) 275
A) 275 B) 325
B) 325 C) 475
C) 475 D) 405
D) 405

Page 21 of 48
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faFwdi (Answer options) # ¥ W&l W &
s 3 Rl # § 3fea A AT

ANSWER OPTIONS

@ o=

89) fder - o7 & wF U o< I & a4, | 7 1| R
T §1 YT A T FEAT & B Re w7 a9t F ¥ F-ar
T AT AR FIF-87 T FAAR 2|

T - T AT T A DA A ey P re
9 & St R, Al & ey ey ¥ st ererar &
0 manage their wealth &7 FT TatT FT ¥

GETR

1. g, aft st § qerge frefra e averer £ F4 &
lack basic financial I1. &Y, st for Farferea, @ si e & gra oft fa<ita
skills. THErT HI9IET 3753 €l

aw & arts students are good

\LWH’*IW%I
2. Fae @ || 79ga g
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3. Both arguments 1 and |1 are strong. 3. | & || AT a5 A9l gl
4. Neither argument | nor argument 11 is strong. 4. T TH | A E O || 79 2

A) 3
B) 4 8) 4
C) 1 o)1
D) 2 D)2

90) Given below is a statement followed by two 90) i W T ST @R &Y qAETCuTy < TE § I
assumptions. Choose the answer as T T ETH AT -

A, if only assumption (i) is implicit in the statement, A wf For & Faer e (i) FiRT 8l

B, if only assumption (ii) is implicit in the statement. B, af2 ser & ae gaemor (i) AT 8

C, if both assumptions 3(i) and (i) are implicit in the C, af¥ Ferw # (i) i (ii) FaT ey fAfRa &1

statement.

D, 3% Tt § ST &1 q@eumd AR 7= &)
D, if none of the assumptions are implicit in the
statement.
Statement: T W A H 18 Y FY MY q TgAT 6 AT AN
People can vote after they reach an age of 18"in AT X TF g
this country.
Assumptions: THELTOMY
(i) There was no voting procedure before (i) TAIAT | IZ TS FART AT 78 o
independence. (if) 18 =1 < 31 7 wraeTar et =fRe o 4w 3 Faw

(ii) At the age of 18, a voter can maturely decide on ¥ witwgaT & favta & Fehat &1

his casting of vote to a person.

A) B A)B
- B) A
c)C GIG

DD D)D
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are facing east. You turn 100° in the 91) 3T Id #r 91T Hg Fh @ g1 AT sferomad R
se direction and then 145° in the anti- 100° i< fT aTaTad fRem & 145° TAT &1 9 A7 fir
ise direction. Which direction are you facing fXaT 1 3T 3@ T &7

A) T
B) T -/
) North-East | _C) Sae-d
D) South-East D) feror-qd

92) 50 litres of water is poured from tumbler A into 92) 50 12X Tt %7 Trawx A & Z¥er? B # STl STt
tumbler B of which a quarter of it overflows. What is & =< B % W % a1e, I0# & TF A1E T i

the capacity of tumbler B? g STaT g1 S B it erear faast 872
Ay 37.5 X 9‘ ;‘;; £v
A) 37.5 litres B) 30 ez +
B) 30 lit
) itres e

C) 25 litres

D) 12.5 litres \5) 12.5 #ftex
@0

93) Which of these words given in t@ons can 93) et ® U U ors=i §  Fi-AT =2 D, E, N, A,

be formed by using the |etters@l AL Tby I, T e & & fft oft stee 1 o off @ s
using each alphabet any numbe es? T ST ST qhelT 272

A) DETAINED ~A) DETAINED

B) DETERMINE B) DETERMINE

C) DETENTION C) DETENTION

D) DEFENDING D) DEFENDING

94) Select one of the following four options that will 94) frefotem s Redt & & v a1 7w fifvm, s
make the second pair analogous to the first pair. T ST A & T Teeft S F wEy g -

Circle : Circumference :: Polygon :? T | THFRC - TR ;- 2

A) aftfiex
A) Perimeter B) aiwqH
B) Volume C) i
C) Area
D) Diagonal Q) ST

1
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Section 5 - Mental A titude
—————=_ental Aptitude

our is spying QS)Wﬁsﬁé%wﬁ%ﬁﬁWﬁmﬁ@
9s she could %aﬁﬁ:a—gsﬁmﬁa—gaﬁaﬂﬁﬁ%ﬁﬁﬁm
are missing in Hﬁﬁaﬁ,ﬁwﬁmﬁmﬂmﬁaﬁ'{mﬂ
Some one hag @Twwgaﬁm%aﬁéiﬁﬁﬁﬁwa'ﬁ
Y. What shoulqg AT HAT ATRE?

A) SR Szars i otg 7% aiw o TaTEEET A

95) Geena SUSpects that her Neighb
on her because she te|lg

Geeng thin
not have known, SOme of

the post ang her house |

broken into it While she

her Mails
0oks |ike

A) Test for mail tampering and use antj Spyware.

ERRILETY
B) Go and complain to the police ang have the | B) qftrr & sae T X 3 g@nft A fewa
neighbor arrested. AT
C) Start spying on the neighbour in résponse to C) 3@ =¢ STTRI % q& # qSRft f St wer
her behaviour. TE FY
D) Accuse the neighbouyr of spying and threaten to D) T=TY ux STt w e w7 sy AL E = Pl
do the same. & F T I ey ¥

96) We belong to different communities but have 96) @ R FEE ¥ R OE, A BHH Fw
certain  common qualites. Given below are W € = ¥ 4 o Ru T E ST EETE i gl

4 qualities that communities have. Which of-the” Rrsfrfam HH F-47 O uF gy TSR F9T
following qualites help to create /a good HIT HIAT §?

®
community? T W | | | .
The community members... A) Hﬁm%ﬁﬁﬁ%awﬁﬁﬁmﬁmﬁ.
A) work towards goals prescribed in their own B) THFT F "1 ffer Rt s -
ST HATU
religion. | LRIy | |
B) celebrate different customs and traditions in C) s+t Wior-araat iy T T, T R gere
GREC Y
unity | | L .
C) should maintain their own food habits and not  py g7 weii it TR Y, T
shou | TEfre
el
intermingle. e
D) discourage the members from openly REQCEETY 8

discussing issues that relate to the community.
i
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programmes there is a very high rate of violence
depicted that may not be appropriate for children.
Children should not watch these inadequate
shows. This can be prevented by which of the

following actions?

A) Government must ban all children from

watching television.

B) Parents should sensitize their children about
impact of onscreen violence.

C) Children should watch television only in the
presence of their parents.

D) All television producers must be allowed to
produce only child content.

¥

—
97) In uncensored or self-censored television 97) famT &< T T AT w=g-Hax T T iy

it  faT Y € g A BT &, S AT g
%msﬁaﬂﬁﬁlaﬁﬁmm@?ﬁaﬁm
mﬁ%qw@rﬁq%%ﬁﬁﬁmm‘%mﬁmm
qHhdT 57
A)Wa?rmﬁa'a‘faﬁé-«ﬁﬁm'é@?fﬁﬁm
Frfaul
@,wﬁwwﬁw&mﬁmﬁ%m%m%m}ﬁ
HTT-RaT 7 (o a1 ! GHATAT AT
‘C)agt # ¥aw A wr-fear # Iufeafy F
Fefifae TEAT AR T
D)w+ft ¥efifasw Fwfaret & Fawr arer Iwwf
fRrgaegat s Ao s it srgAfa & S = IiRu

98) Sheetal has gone for movie with her family
when a group of college going girls come and sit in
front of them. The girls misbehavgé in the theatre.
They are talking in loud voices and have their

98) shae s afEm & @ty fhew @y < ot @@
Fferst 1 TEHaT 1 T TG ITH A AT A5 AT
81 wefat froe & gofaem wedt #1 ¥ o1 st
AT GG § SR S Hrarge oo oty e 7t §1

mobiles switched on. Both the noise and the lights ¥ &R X @Tge W1 & sfiger @ik 9% qfER & ;5

from the phones are upsetting Sheetal and her

family. What is the first thing she could do?

A) They should make more noise than the girls .

are making to stop them.

B) Ask to see the owner of the cinema and

complain to him.

C) Look for an usher and complain to him about

the girls' behaviour.

d over and request the girls to switch off

D) Ben
their phones and not talk.

ﬁ&nﬁ@@%nﬁ?—ﬁ%ﬁﬁﬁwwm—cﬁ%?

Po:
ex;
A) T AT A6 T R 5 T s o #T pre
1R, Rraar e wefimt % o &) tha
B) Rmwr & wifers & fam & frw #3 siv g=a Vas
IHEARGEETY rof
C)@Wﬁﬂm&rﬁaﬁr@ﬁm‘f%ﬁw%w”g
a3 farrTaa ,
A
Q)/sﬁﬁafrta?ﬁm*. '%wﬁ@wﬁaﬁmmaﬁ%)
T T AT HT AT T t':‘
3)Re
Sct
))F,'n‘
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99) In India pypjie blame th

following things EXCEpT
A) Public indiscipling on the

€ police for g of the

Streetg
B) Traffic Congestign, On the

oadg

authority.

D) It empowers individuals with rj

ghts that can pe
revoked easily.

101) Grant ang Randy strongly Compete for the first
position in theijr class. Randy cheated in the_final
€xam because he knew that he was not fully
Prepared for the exam and is likely to score less
than Grant. Randy scored more than Grant and
Was recommended for a scholarship by his
Professor. Which of the following actions by Randy
Will gain him respect in the eyes of his professor?

A) Accepting the scholarship deserved by Grant.

B) Admitting to the professor that he cheated in

the exam.

C)

Reasoning with his professor that the

- Scholarship was important to him.
D) Finding ways to prove to the professor that

Grant also resorts to cheating.

—

99) W & ST e # & 3w @ A AEH
It <rsit % R aftrer 8y ek v 2 -
A)H.Eﬁwﬂmﬁmﬁﬁm#@-ﬂr

A)%stﬁ%mﬁ%ﬁﬁwéu

)T T A G a3 v o ot

T A ST 0 S v
ﬁmm%mﬁfaﬁﬁﬂﬁm&wﬁﬁﬁm
ﬁﬁ%ﬁ%ﬁﬁﬁﬁ?—@ﬁ%ﬁ@msﬁw
A T wr e

A)Wqﬁfaﬁmmmﬁmmmg.

B) SIS 3 Wt Tt ey 3 ary ey 3
CIEEIE ]

C)W‘ﬂ'ﬁ?ﬂt%mﬁm%aﬁqﬁrmﬁq
RECFURIT

D) THT % | 4 a1RT F07 ¥ T g B
T Y TS T R o 2

e —
198 27 of 48
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102) Brian is on his laptop at the office when the 102) ¥ gfere qemeft @ & forg st & &
police come in to carry out a search. Which of the FTafer # 3w el T G &l I8+ m?ﬁ;ﬁm
following would be a reason to snatch his laptop? T T FTLT e & § F-81 gr? T8

He is
A) working on a confidential Excel spreadsheet to

submit to his boss.:

B) watching the last scene of a romantic comedy
as it is his lunch break.

C) showing his colleague the photographs taken
at his brother's wedding.

D) checking out a website that gives you tips on

how to make an explosive device.

) are 2t waire T G 0 T
Bresfic T FH T I8

B) s Qmifes FHAET #1 Aot 347 3 T iy
TE IAH TF 7T gl

C) oo TS v o & off wE R AT FEgEAR
Rarwral

D) T daTEe H ST F @ & S M e

Vamwaﬂﬁ%f%wé?ﬁél

103) Aruna realised that her neighbour's kid who 103) SrEUIT &7 UgHTH o [ I8 TSIAl 7 agr &
comes to play with her three-year old daughter js, S&t &« aTer Fit &1 % |1 e ¥ g s Ak
deaf and has faulty speech. Which of the following =f8< g 3% ST avary ft g1 sreom f Rerfered ¥
actions by Aruna would be considered as Sensitive & T g=T S8 a= w=RR F 9g F wfa wacads

towards her neighbour's kid?

A) Aruna requested her neighbour to'take their kid
to a speech therapist.

B) Aruna treated her neighbour's kid as she would
treat the other kids.

HTAT SITEIT?

A) T AT TSI F U Y & oty RfNw

qTE & I T e

B) 30T 39w TEIHT F ag & AT I € AAER T
& 59 9 AT 9FT % AT HAT

C) Aruna kept her three year old away from her C) 3o ¥ srqw i 9 % T 71 srq T} Y ¥

neighbour's daughter.
D) Aruna thanked god for making her daughter a

normal child.

T @

D) 3rev & 7o+t ST T T ATy agr awn ¥ f
WRTETA T QR et famm '

Page 28 of 48
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104) Venu is an absolute vegan - the practice of
abstaining  from the use of anjmg products,
particulal'ly in diet. He married Susy who is fong of
meat and chicken. Which of e following

statements confirms that thejr relationship s

unlikely to be affected because of different food

preferences?

A) Venu insisted that Susy myst give up eating
meat and chicken if she wanteq to live with
him.

B) Susy often picked Up arguments aboyt not
feeding their children meat and chicken.

C) Susy never cooked meat or chicken at home

and Venu did not insjst that she should sto
eating meat.

p

D) Venu refused to eat anything cooked by Susy
and preferred to cook hig own food.

104) 3vp qof &7 & i - ag =fE o 9g SRl F
ST § TR A 3, R g ¥ g I ¥
ST & R w0 A g g & v A Sy
i S Rt 7 o 21 Ry 7 & Fie-ar woe
S AT AT R T2 & B arer aaare £ Afware
W S ety T S oy e o 27

A)W%m%w%wagmmwm
aﬂﬁ{ﬁﬁmﬁtﬁwwaﬁgéﬂw@l
B) Tt a1 sty it A i e P 7 Forery
F T TR Ty offy
Wﬁ%ﬁﬁ%ﬁﬂrwmmﬁwﬁmaﬂr
A S A e i g i wr e acyy
D)%ﬂﬁﬁﬁﬁmwwgﬁqsﬁ@ﬁﬁwm
%WWWWWW%I

105) Samuel is an ardent supporter of gender

equality and is known for championing inclusiom;
taking initiative, and driving social change. [4¢\has
been appointed as the convenor of International
Science conference to be held at Geneva, He

drafted a code of conduct for maintenance of

gender equality in this conference. Which of the

following are unlikely to be included by Samuel in
this draft?

A
B)

Treat everyone with respect and consideration.
Be respectful and mindful in your critique of
ideas.

C)Respect the rules and policies of the
Conference.

D) Communicate thoughtfully only with male

SCientists.

105) ﬁﬁmﬁﬁmﬂmﬂmrﬂmméaﬂ—taﬁ
wﬁ&rm,mm,aﬁrwﬁmwmﬁw
Wm%ﬁquélwﬁﬁmﬁm
B 9 S R aee I ¥ w F
s w8 TA T qRA # ARF AT 5
W%m@wzﬁmmm—qwmg.
ﬁgmmmﬂﬁ%ﬁﬁﬁﬁmﬁ@rﬁmﬁmﬁw
3R ST i v =t 22
A)mﬁ%mwaﬁ'{wﬁﬁarwqﬂ
Bmﬁﬁaﬁﬁwﬁamﬁﬁvﬁaaﬁrmlﬁl

C) weer ¥ fawt i At s wwr 2%
D)mwamﬁﬁ%mm-mwmﬁq

-P\\
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106) All of the following duties are performed by 106) Fe Yad gfew g et @ g
FTH, e E T IEIRICCRE RIS
A) Bt T T ATt SO A F A oy

Government Railway Police EXCEPT:

A) Maintenance of law and order in passenger

trains halted at stations AT @1

B) Removal of bodies of persons who die in trains B2t 3 7oy T AR F o FAHTET|
C) i a3 feee F1 T HLAT

C) Checking platform and train tickets
D) Sror qfEe ¥ shaC At Frarare A S

D) Control of passenger traffic within station

premises

107) Which of the following is NOT a universal 107) Frerferfr & & F19-97 T AaEiEE baid CEl

principle that all people and institutions are subject & forrd aft AT AT HEATT HIT % arefi € SR S
wfa STETaeg 87

A) Laws are clear, publicized and fragmented. A) T TE, TATRA AR @i 2l

for enacting laws are B)TT adTH i SfHAT AW, fArouer I F9 g
C)mzrﬂwaﬁ"{#ﬁ?ﬁuﬁﬁfaﬁmﬁmwgl

D) ATt 3iT Frsft FereTE FTI F q8d SATSE 8

to and accountable to law?

B) The processes
accessible, fair and efficient.

C) Justice is delivered by competent and ethical
representatives.

D) The government and private actors’are
accountable under the law.

108) Samuel prefers to work by himself. He is not a 108) & &% FTH FHTAT THE FTAT | I8 g@L AT
people's person. He is averse to writing e-mails. & STa=(ta FHCAT =al TeI T Iq XA foraar T8

Samuel is likely to be successful T dreerer 5 TEA A SR Y FWTET &
A) in human resources, and staffing A) AT HHTEA ST =TT i,
B) as a manager of a team B) et & ¥ weterw ¥ =
C) in managing social media C) arerer =T & y=ew &
D) T T fS# Wl & SfeT-37e aradia

D) in jobs which require one to one interaction

SELFFHAT ZIAt Bl
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109) During @ major fire out break in a public area 109) & HESF &7 # s g awr A F
the police are responsible for all of the following <, e =it & T w Y Gvea s weft & frg
EXCEPT: e g |

p) Protecting bystanders at the location A) TTATEIT F AT G AT T
3 &T EAT
g) Protecting fire department equipment .

. B) aﬁrszmﬁwm%memﬁﬁwmn
c) Rerouting non-emergency traffic away C) AX-sraraaTetr 3t A 1 s
. - Gl : HAT
p) Helping the photographers to click photos DY ®IET T Y § BrenrTRg £ aw e
: |

L e

110) Rita wants to take a loan from a bank. Her

. ) 110) &ar 3% & =0 o Wt ¥ sy % @
bank is NOT required to provide which of the ﬁ'ﬂﬁ%ﬂﬁﬁaﬁm@ﬁwwmmﬁmgw
following services? T8 &2

A) Offer assurance that her information will be A) ST STAFE T T ST 7 A ST

kept confidential. © B) AT ¥ ST 9T 39 |17 4 T
B) Inform her that she will not be discriminated & & &fta Fr

against on the grounds of gender. C) )T T TwTaS F e de gt
C) Receive clarification and transparency in the qTH FAT
documents issued. D) T ITTE AT ST ST SHHT 6@l A gL &
N

D) Sell products that are beyond her

requirements.
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Section 6 - | Q Test

111) Ganesh is the brother of Neeta. Sonal is the 111) arorer et FT WIS T A FET ﬁag#%;ﬁ%
2. Rita and T 1 ¥eT 21 G o Frar 7@ & A B wwhoag

sister of Sandeep, who is the son of Rit

Neeta are siblings. Sonal's aunt is g7
Gf—N
A) Rita A) Gar
B) Neeta B) tar
C) Ganesh's mother C) T i A
D) Sandeep's wife DEEEEIRC

112) Ravi is 7 ranks ahead of Sumit in a class of 112) 39 T A Fer F S g & 7 & W Ak
39. If Sumit is ranked 17t from the last, then what TfA i & 17 F am = &, 1 T &t & 77 §

is Ravi's rank from the first? T 87
A) 14 A) 14
B) 15 B) 15
C) 16 C) 16
D) 17 D) 17

113) What comes in the place of question mark in 113) & T HEer § vy e F e 9% /4w aren?

the given series?

BAT, BET, BIT, BOT, ? BAT. BET, BIT, BOT, ?

A) BIG A) BIG

B) PET B) PET

c) BUT B0
D) BOT

D) BOT
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114) In a certain code,

What will be the Code for “luci"?
A) 'together'

B) 'different’

C) 'get'

D) ‘all

116) What s the HoF of 20 cr

114) = e e swrar #, [rini miki suki] #7 [we are
together] & &7 # forET AT €,

[miki luci pinci] #T [all are different] & &7 & for@T
ST &, 9% [suki luci deni] #T [all get together] % =7
% foraT Strar &1

T "luci" ¥ RrT Fre =17 ERTT?

A) 'together'

B) 'different'

C) 'get'

D) 'all'

What is the HCF of 456 and 204 ?

115) 456 aﬁtzomerCmeamqaﬁmm%?
A) 6 A) 6 c X 24

B) & B) 8 3%, 17

L C) 12

D) 24 Dy 24
116) If today is Friday, then what day of the \Wee

T2 HHTE FT Fi
will it be after 98 days? T & g m?
A) Sunday A) Tﬁjlm .
B) Tuesday B) wrerame
C) Wednesday C) g
D) Friday D) gam
—_—

117) Which is the odd one out among the four
Optiong?

A) #4$
B) #i4
C) St
D) &4

‘_‘*——M
117)%{1‘{%3@*#%%@%91%?

A) ##$
B) #$#
C)
D) &
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118) If A and B are two sets, then A ~ (A ~B) 118) afy A ST B )

equals ; FAqECE

A) A A) A

B) B B) B

Co C)®

D) A' D) A'

119) What is the unit digit of 191447 119) 194 7 If¥e AT THIS 37F FT §2
A) 8 A) 8

B)4 B) 4

C)1 C) 1

D)6 D)6

120) In a certain code, if DESK is coded as DEAB, 120) s ff3r %= # DESK %7 DEAB forar wram %,

then what will be the code for PROD? /] 99 &g § PROD it $4 forar smum?
A) GFID A) GFID
B) GDIF B) GDIF
C) GIFD C)GIFD
D) DGFI | D) DGFI

121) Which of the answer figures will complete 121) T ft 33¢ AT FHET Y § & ArEfaaT it
the figural series given in the problem figures? JGT 1 T8 FG07?

Problem Figures Answer Figures T G"Tﬁ W \}[@ﬁ[

AF‘ | ame 7 ] | r‘jr‘n‘-
000 | DD | DR

A B C D A B ¢
A) A A) A
B) B B)B
g)e g

D)D P)D
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122) Which is
) the odd one out among the four 122) = fasedi # F fauw i @1 87

options?
A) #8%
B) #6$
C) #4%
D) #32

123) An old man walks towards East and then 123)@3@Twﬁﬁgﬁﬁﬁmé’aﬁ?ﬁﬂaﬁmﬁ
turns to South. He then tums to his right and starts @< AT 21 ag fRe o g AT gSA & ol =

walking. In which direction is he walking now?

A) East

B) West
C) North
D) South

STAT 21 7 o e fe # 9 @7
A) T

B) :::]

C) 3%
D) =feror

124) Arrange the words given below in a

meaningful

1. Indian Passport
2. Flight

3. Immigration
4 World Cup

| 5. Century

| A)1,4,3,2,5
B)1,3,24,5
C)3,2,1,4,5
D)1,2,3,4,5

sequence:

128)f5 R T 1Rt A AT AR # AT Fl

1. AL qTEATE
2.3

3. sryaTET

4, farasy

5. %

A)1,4,3,25
B)1,3,24,5
C)3,2,1,4,5
D)1,2 3,4,5
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12
F 8) In a certain code, if PHONE is coded aS 125) o T & ot #e A NUMBER & ferar
RSLQ, then what will be the code for NUMBER? s foFam S @
mﬁ‘"’-’
A) OVNCFS A) OVNCFS
B) SIFQYO B) SIFQYO
C) LVNCQS C) LYNCQS
D) QDBLTM D) QDBLTM
126) Which of the following options will make the 126) Frerfarfera & & i A1
second pair analogous to the first pair given as: ST F FEET AT
FHJL : CEGI FHJL : CEGI
A) LNPR : IKMO A) LNPR: IKMO
B) ACEF : GIKL B) ACEF : GIKL
C) HQRT : FISX C) HQRT : FISX

D) HJLN : RTUW D) HJLN : RTUW

127) In the series of alphabets given below, how 127) A3 & et A sEen §, i A" A

many alphabets are there in between the 3rd srer S STt A & <9 arer 3 = o Foha srea< €2

alphabet from the left and 4th alphabet from the

right?
AHKLMNOPQGSZNTUV AHKLMNOPQGSZNTUV
A) 9 A) 9
B) 8 B) 8
G)7 C)7
D)6

D) 6
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128) If ‘North-East’ is called West, ‘South-East' is 128) 7t ‘Teed 7y f: a1 o &, ot
qlhq iQ 'aiql-rEﬁT

called North, ‘South-West' is called East and EARRTARCI S £ e 'O

‘North-West' is called South, then South will be ‘Tww-afrr i aforr FET ST 2
Q

, ar i # R

called as STOAT—

A) East A) & .

B) North-East B) THT-T§ ’ﬂ%r p
C) South-West C) aRrr-afim

D) South D) =R A

e

129) Which of the answer figures will complete the 129) = €T I sThfa THET a@i;ﬁrg TE AT
figural series given in the problem figures? T GAT HT T FGT?

ANSWER FIGURES m &"?ﬁ W m

00000 SO 0000

PROBLEM FIGURES

A B ¢ D
AA A A B C D
B)B BB
c)C ¢
D)D D)D

——

130) If today is Saturday, then what day of the 130) 72 3 IfR=R 2, A7 57 R Fare HATE & -

Wesk will it be after 57 days?  fam g
A) SUnday A) RALE IR
B) Tuesday B) WAL
C) Wednesday C) gHam
D) AT

D) Fl'iday
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Section 7 - Reasoning Ability

Sreq TATHAE FrATAT

131) Rohit, Rohan and Rani are the three friends 131) T, e + T T § @2 # Tfgd FA

standing in a queue to pay their fees in the ﬁ@mzwwwél el e & 1441 e T

administrative office. Rohit stands 9th from the ¥ e A 9(1;“;% 4 i & e T A AR T

beginning of the queue. Rani is 14th from the end. & ﬁTg Ty ST 204t T8 9T & 3T TR
; between them &= 5 BT | .

Rohan and Rani have 4 students be e =5 — £ m_;ﬁ?ﬁ FJ B, ar

and Rohan and Rohit have 5 students between
them. Rani is 20th from the beginning. If Rohit and

AT & 153 ET T HIA 7

Rani swap their places, then who will be 15th from

the beginning? A) T

A) Rani B) Afed

B) Rohit C) T

C) Rohan D)mw(agmﬁwmﬁﬂ%mﬁﬁq
D) Anonymous student AT 31)

132) A box of 100 matchsticks is taken. Using(two 132) 100 Fiferat areit wF A= £ =t o T2 B
matchsticks as a side length, a cube is made with qefiy waTs % =9 & & At i e ITIT L
matchsticks. How many matchsticks-will)be left in e it AR & v o aer ar g s 7

the box? T Fir diferat Tt
A) 38 A) 38
B) 24 B) 24
C) 88 C) 88
D) 76 D) 76

133) Pointing to a photograph Raman says, "The 133) TF T&IT 1 AT TART FI gL A F Fg
man in the photograph is my sister's daughter's "TER ¥ Ew am =T T T&T F T F A 3‘
maternal grandfather". How is Raman's son related T# % =2 &1, 76T # @ aret =0 F 77 froqy 29
to the man in the photograph? '

A) Son A) FT
B) Grandson B) TraT
C) Father C) ﬁ,?_n.

D) Nephew D) i
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134) In each of the option, a set jg given. Select the 134) et e % e e iy & S HE FT AT
set that is different from the otherg FIRT, S sy avft 32 & forer g

A) (X, XX) A) (X, XX)

B) (XIl, XXIV) B) (XII, XXIV)

c) (X1, XXl C) (X1, XXl

D) (VIIl, XVI) D) (VIlI, Xv1)

135)

Among the given group of 4 images, which set
of images can be classifieg as a group?

135)%qw4ﬁﬁ%ﬂﬁﬁﬁﬁﬁ%ﬁﬁ-ﬁw

T U T % w7 # T R o wwar 22
' =1 :
B
1 2 3 P 1 2 3 4

A) (1,2, 3) A)(1,2,3)
B) (1,2, 4) B) (1,2, 4)
C)(1,3, 4) C) (1,3, 4)
D)(2, 3, 4) D) (2, 3,'4)
136) Identify the figure that completes the visu_a“; 136) 397 s@=T Ty TT L aTft amgfy
series. TEAT Hifvry

A) 1
8)2 B) 2
©3 C)3
D) 4 D) 4

[
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137) Select one of the following four options that 137
will make the second pair analogous to the first @ SE A

pair.
ol gE e 1 ?
Tailor : Needle :: Plumber : ? INGEEL
A) Wood B) 9T
B) Wrench C) et
C) Taps D) &=
D) Table

138) A dice is taken. Numbers from 1 to 6 are 138) T WTaT form 74T §1 1 & 6 TF H HEATE IHF
written on its faces. The faces with numbers 1 and Wit 7€ frdt 78 &) &ear 1 3T 4 F FAF TH-ga
4 are adjacent to each other. Number 6 is on the @fSrFe §| H&aT 3 FTET GeA® TEAT 6 q Flh &
face opposite to the face with number 3. Number 2 faa€ia & g1 HeaT 2, H&4T 4 I FF & AIUd Bl
is not on the face opposite to face with number H¥Zi g1 TAH T HIA-AT GEAT-SIST AR FeAshl L 872

4. Which of these pairs of numbers are on adjacent

faces?

A) 1and 2 A) 132
B) 6and 3 B) 6 3w 3
C)4and5 C)43ix5
D)3 and 2 D) 332

139) Which number replaces the question mark (?) 139) ¥ & 7% Fa@e w3 frew (2) B ahren

in the series given below? T Tt aﬁ'vr.zﬁgr?
23,28, 38,7,62,70 23,28, 38, 2, 62, 70
A) 48 A) 48
B) 49 B) 49
C) 50 C) 50

D) 51 D) 51
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140) A figure is given on the |eft with a pattern. 140) SRIE N G E R PR CE CinkRIER
Observe and find which of the three images on ST T o Fame f et s & et At

the right looks similar to the right half of this ¥ ¥ F17 T et 3 aret oraf ey ¥ e '
pattern? &?

—1 T T_—c’__—_
ﬁj I‘ e I%—J [ =i

_ e

A) 1 A) 1
2 B) 2
C)3

D) Both 1 and 2 €3

D) 1 i 2 QY

141) Identify the figure that completes the visual 144).997 sj@eT 1 T F AT FfA F gg=9=
series. £

TR

_— - I e T T RPN —
; : B SR R S
b i
2N | ;
e =5 | S
f ; i ;
-—-’ i i 4 & .
] v el ;
7 & 2 [ , Feprict it | ¥
, 3 A se | : b AR EMP R T e i
5 : b e s A AN P (9
: = [5G
& vk Bt
7 ; *— | [
£ 4
. i -
3 3 fes
£ ] {
- |
R b i It
)
:

A) 1
A) 1 B) 2
B) 2 C)3

C)3 D) 4
D) 4
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142) Select one of th ﬁgﬁ-ﬁaﬁﬂf R
e following four options that 142) > que’T
SIS

Wil make the second pajr analogous to the first F&4

pair.

Join : Break :: Marriage : ? CESIE g A ?
A) Engagement A) TS

B) Birth B) e

C) Divorce C) a«T®

D) Death D) 9%

143)u=1°raﬁ-<rh-rn?ﬁ800 ﬁ’r.%@vﬁﬂm?ﬁaﬁﬁ

T & o afr 10 1 9F
course of 800 m. If their speeds are in the ratio 10 f=t =t 3E 2 ’Iﬁqﬁ -
10 : 9, the number of times, the winner passes the aﬁ‘ﬂ?rff%, it Forsyar gardt g R fi

143) Rani and Sonali run a 10 km race on a round

other is !

A) once A) TFH 91X
B) twice B) & d1X
C) thrice C) @9 a1
D) never D) it gl

144) Three out of the given four codes are similar. 144) T 7T 9T e & & d7 T 2 ol & g9

Find the odd one out. £ ¥ wF fauw &1 5w Rww e #:r g
A) RED7% A) RED7%

B) YELLOWG6& B) YELLOW6&

C) PINK4# C) PINK4#

D) GREEN5* D) GREENS*
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145) Mr, Bajaj'\

Mr. Desa Mr. Khan, Parmar 145) fiy o, fr. wrE, @ @, @
and Mr, Chopra live in a 5 st

. Hwforet &
) "®Y building each of fiy T TF 5 W T i st 6t
them on differen floors, The bottom-mogt floor is

numbered ag floor 4 a

8w & A A o B Al 1% w F wifa
! bovefloor i

cor Tt § 1% Y i P e &1 o, X, o,
| S floor byt below My Bajaj's floor B T AT e iy AT AT A ATl wiforer ¥ <
There is a 93ap of twg floors between . Khan and # fy am 3 . T ¥ iR ¥ e 3 S
Mr. Parmar, . Khan jives imMmediately apoye w B w Y T ¥ B S Areft e &
Mr. bChOPFa S floor. My Chopra lives o floor wea & far. ﬁmﬁv“ﬁ?—rﬁ@%’ SR FeT g
number

A) 4

53 B3

C)2 C)2

D) 1 D) 1

T\—\

46) Dolly is taller than Chandra ang Farah. Anang
is shorter than Farah, Chandra is

Dolly is shorter than Bharat. T
done among five friends.

taller than Anand.
he Comparison jg
If the shortest g the

T 2 uﬁmﬁmwwmw%ﬁt
thinnest and the weight goes on Increasing with'the, $ars % a9 gt &, T F9Y HYey
height, then who is the 2ng fattest person? RINEIC Ty
A) Anand A) TR
B) Dolly B) =t+ft
C) Bharat C) W
D) Farah D) e

147) Which number replaces the question mark (?)
in the following number series?

\‘
147)ﬂ%ﬁw§v{em%wﬁgw(?)ﬁwﬁwﬁﬁ

mﬁaﬂ-ﬁﬁ@rﬁw—é‘r%?
649, ? 1,3, 26,649, ?
1,3, 26, 649, 7
A) 31790
0
S B) 31800
B) 31800 &) 31801
C) 31801 D) 31812
D) 31812

Page 43 of 48
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148) Select one of the following four options that

will make the seconq pair analogous to the first
pair.

103986 : 689301 11965492 : 7
A) 763990

B) 296784
C) 294569
D) 983457

frarferfad T

148) S

ig-ﬁ:;ﬁ,éﬁ‘a?fq{‘ﬁ ey aaral

. ?
103986 : 689301 :: 065492 .

A) 763990
B) 296784
C) 294569
D) 983457

149) Sonal bought 10 bowls and 20 plates for 4
580. If the price of each plate is ¥ 5 more than the

bowl, then the price of one plate is
A) 2 36

B) X 18

C)% 21

D)% 9

g‘—}q&rﬁi’580ﬁ‘10a@ﬁ'ﬁ3ﬁ’{20qﬁ'ﬁ

149)
Fa G T AT T 5

G ST e ATedT B A
mga}@m?ﬁﬁﬁﬁﬁé
A)N2:36
B) 2 18
C)z 21
D)% 9

150) Eight identical cubes are taken. Each of them
is coloured with Red colour on a pair of opposite
faces, Green colour on a pair of opposite faces and
Blue colour on remaining two faces. The eight
cubes are joined together to form a larger cube. At

most how many different colours could be there on
a face of large cube?

A)1

B) 2

C)3

D) 4

150) 35 FHET 99 forw ST &1 399 F gedw Rl
HeThT & T SIS T AT O °, Bl st & 0w IR
FI 8L T F 3T AT ST Fefehi i1 Ao 17 F GO 04T 3
UF F= 9 A A F R o e we it v v A
STIST ST €1 % = Y AT 3 T Foren 0T s

A) 1
B) 2
C)3
D) 4
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